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Instructions : (1) All questions in Section — I carry equal marks.

1. (A)
(B)
2. (A)
(B)
3. (A)
(B)
4. (A)
(B)

(2) Attempt any two questions in Section — L.

(3) Question 5 in Section — II is compulsory.

Section — I
What is strategic management ? Explain the characteristic of strategic decision.

Explain the differences between strategic decisions and operational decisions.

What is Environmental Scanning ? Explain any two techniques of Environmental

Scanning.

Explain the content and limitations of SWOT analysis.

Discuss the process of strategies choice.
Explain BCG Matrix Model.

Explain advantages and limitations of Strategic Business Unit.

Explain the difference between strategic formation and strategy implementation.

Section — I1

5. Choose the correct answer : (any five)

(1)

2)

AJ-105

From which country the concept of ‘Strategic’ come from ?

(a) Greek (b) Japan

(c) America (d) India

What ranks the first in the hierarchy of strategic intent ?
(a) Objective (b) Mission

(c) Policy (d) Vision
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Which is not considered as a strength of a business unit ?

(a) Data and records

(b)

(c) Single productive (d)

Experience

Resources

Which of the following is not functional capability ?

(a) Financial capabilities (b)
(c) Marketing capability (d)
Industrial structure is determined by

(a) six (b)
(c) three (d)
Which is the aim of framing policy ?

(a) Indirect control (b)
(¢) Quick decisions (d)

Resource capability

Personnel capability

competitive forces.
five

four

Industrial discipline

Suggested all

Who has developed foremen system in functional organism ?

Dr. G.R. Terry
Fredrick Taylor

Personnel related

(a) Peter Drucker (b)
(c) Henry Feyol (d)
Which is not a type of concentric diversifications ?
(a) Marketing related (b)
(c) Technological related (d)

Marketing and technological related

The following is not a technique of corporate analysis ?

GE nine cell matrix

Above (a) and (b)

Objective

Vision

(@) SWOT analysis (b)
(c) BCG Matrix (d)

is the purpose of organization.
(a) Goals (b)
(c) Mission (d)



